> A
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
A0l X2t
A U SdEsH
S ATHMUUEX Y & ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ofl LA X1 2 124,922,181 80,901,351 44,020,830
= 79,570,000
s 5,782,000
J| 1,493,170
< 38,077,011
Ol X AH=EH 70,695,258 37,331,510 33,363,748
= 47,249,000
s 5,782,000
J| 1,493,170
< 16,171,088
ATHAOHR HE L EZ 6,943,058 6,061,226 881,832
= 769,000
J| 1,493,170
< 4,680,888
O XIE =8 5,000 9,000 A 4,000
202 4l 5,000 9,000 A 4,000
01 SLHOIYI 5,000 9,000 24,000
oHuHXEX 2= 5,000
ATHEUHH X AEAI2 2te| =8 57,000 78,000 A21,000
201 £B-2dH| 57,000 60,000 A 3,000
01 At 22l 27,000 30,000 A 3,000
O&THMUHUL X &AIZ 2 27,000
02 2324l 30,000 30,000 0
OLUMHUUHUHXEAZ S22 30,000
ATHA0 X AlE 22 807,000 755,000 52,000
201 Let24dy] 777,000 720,000 57,000
01 At 2teltl 27,000 30,000 A 3,000
OATHMO X AR 29 27,000
02 =224l 750,000 690,000 60,000
OAMTHMUH UK MR 223 40,000
OATHAM O X &XEHR] oFM &I 60,000
OATHMU UK EMEX A S 2HeSA 630,000
OATHMU UK XX HI| HHAE = 20,000
202 Odl 10,000 15,000 A5,000
01 = LH 4 Hi 10,000 15,000 A5,000
OLMMUUX LRFZ 10,000
401 A& HIZ 201 Y] 20,000 20,000 0
01 A& HI 20,000 20,000 0
O&THAM MU X EXEX Al 2e] 20,000
MMM HX NS (22) 570,070 870,566 A 300,496
J| 570,070




2N
X ZH -
L= B

el

LNEPNINE
HuX seE=sd
ATHAMUHR Y & 25

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 570,070 870,566 A 300,496
J| 570,070
01 HXHMA=LE X 570,070 870,566 A 300,496
OHLZLHAILE &X 570,070
J| 570,070
NAMHRNESY ANEEZ AL (=) 769,000 308,000 461,000
= 769,000
403 XSS A0l & 769,000 308,000 461,000
= 769,000
01 XM A=2EE 769,000 308,000 461,000
OXNAUHUHRZES ANEEXAEY 769,000
= 769,000
FHAHNS WX SXASE(=2) 1,057,720 1,132,900 AT75,180
J| 923,100
< 134,620
403 XIS E X201 & 1,057,720 1,132,900 275,180
J| 923,100
< 134,620
01 X SHHX2E= 1,057,720 1,132,900 AT75,180
OMASE & MIA=XAE LEDS A 1,057,720
J| 923,100
< 134,620
ATHHM X =S XML (S HEEXHA) 1,014,720 2,598,960 A 1,584,240
403 UHXSHHSA=0l& 1,014,720 2,598,960 A 1,584,240
01 HXSHHMA2E X 1,014,720 2,598,960 A 1,584,240
OAITHA Ol L Xl =E X & ALY 1,014,720
ATHEM UK ESS8XAS (IFIOHAET ) 1,432,548 0 1,432,548
403 MtXISHH S0l & 1,432,548 0 1,432,548
01 XM A2E X 1,432,548 0 1,432,548
OLTHMEUHUX S X3 A 1,432,548
e OIXNEX Mt Y 2BHH 2F(IIHEE 1,230,000 0 1,230,000
X&)
403 XSS =0l & 1,230,000 0 1,230,000
01 HXSHHMA=E X 1,230,000 0 1,230,000
OUEZ OIXMRX st E ASHH 2= 1,230,000
Ol 4RI XH& 22 6,319,000 11,109,481 24,790,481
= 300,000
s 5,782,000
= 237,000
SOHE UISH2 PG A8MEHT BExAE(22) 300,000 300,000 0
= 300,000
403 MtXISHH S0l & 300,000 300,000 0




A0l X
g uX sdE=sd
S X HE2e

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 300,000
01 XM A2E X 300,000 300,000 0
O=s0HE OS2 9 LPG A8 HEYa B MY 300,000
= 300,000
SHE HIIBSAMY X2 (SHEEXH) 32,000 143,075 A 111,075
403 XSS X201 & 32,000 143,075 A 111,075
01 X SHHN2E = 32,000 143,075 A 111,075
O=s0HE HIIBSAE F& 32,000
ssH WX =5 - 22 =d 5,000 10,000 A5,000
202 04l 5,000 10,000 A5,000
01 =LHA YI 5,000 10,000 A5,000
O=23 diuXizel 2= 5,000
HZXSY LPGHI 22 &XI(=21) 5,782,000 0 5,782,000
s 5,782,000
403 MHXSHHSA=0l& 5,782,000 0 5,782,000
s 5,782,000
01 HXSHMA2E X 5,782,000 0 5,782,000
OFZ XY LPGHH 22 A XAt 5,782,000
s 5,782,000
dHA Y SELEZ ALY 22l 200,000 0 200,000
207 & RO ] 200,000 0 200,000
01 289 200,000 0 200,000
O=2lIlol =At 22 200,000
HE3NSI 22 57,433,200 20,160,803 37,272,397
= 46,180,000
< 11,253,200
HII0IEX 22 N (=1) 756,000 307,970 448,030
= 540,000
< 216,000
403 XIS E X201 & 756,000 307,970 448,030
= 540,000
< 216,000
01 X SHHX2E= 756,000 307,970 448,030
O&IIOIER B2 756,000
= 540,000
= 216,000
HANARE Hgd N (=21) 286,000 287,950 A 1,950
= 220,000
S 66,000
403 UHXSHHSA=0l& 286,000 287,950 A 1,950
= 220,000
< 66,000




2N

X ZH
S =

el

o
OUA dEEd
HE3 XS

[ L X2t

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 286,000 287,950 A 1,950
OFAHINAXY HZH B=X 286,000
= 220,000
< 66,000
HMIOIXSX 200 K& (=2212) 56,360,200 19,475,900 36,884,300
= 45,400,000
< 10,960,200
403 MHXISHE X201 & 56,360,200 19,475,900 36,884,300
= 45,400,000
=) 10,960,200
01 X SHHN2E = 56,360,200 19,475,900 36,884,300
O&IIXt=s X R0 XI& 56,360,200
= 45,400,000
=) 10,960,200
detdlsx 2 F4H 5,000 9,000 A4,000
202 04 tl 5,000 9,000 A 4,000
01 = LH 4 Hi 5,000 9,000 A 4,000
oz IS B2 gdR=2 5,000
HMII=Z=I| 200 XNE(=222) 26,000 0 26,000
= 20,000
< 6,000
403 X SHHSA=0l& 26,000 0 26,000
= 20,000
= 6,000
01 AXSHMA2E X 26,000 0 26,000
OHEII2&I| A0 XI& 26,000
= 20,000
< 6,000
JIZHSUE = 2,272,000 3,300,300 A 1,028,300
= 1,121,000
< 1,151,000
Ji=ds (e =& 1,891,000 2,932,800 A 1,041,800
= 820,000
< 1,071,000
st=2JI=RSIARA X & 976,000 1,450,000 A 474,000
306 £ 3 976,000 1,450,000 A 474,000
01 &3 976,000 1,450,000 A 474,000
Osgt=JI=8sd2d 2¢ XA 976,000
Jl=gsttie 8= =4 5,000 7,800 A 2,800
202 44l 5,000 7,800 A 2,800
01 SLHOYI 5,000 7,800 A 2,800
OJI=HsHM HR=a 5,000




A0l X

M JZHSUHA =T

el JlBEE (S A (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

BAJIZANLE EASY ZOY(2D) 730,000 435,000 295,000
= 730,000

403 UHXSHHSA=0l& 730,000 435,000 295,000
= 730,000

01 X SHHMA=E L 730,000 435,000 295,000
OEZII=ZANE EHLE LHAE &X 730,000
= 730,000

ZAT JFEHS S Jl2HE 28(=21) 180,000 0 180,000
= 90,000
< 90,000

207 A RO 2| 180,000 0 180,000
= 90,000
< 90,000

01 289 180,000 0 180,000
OZ3E JIZHs a8 JI2HE =8 180,000
= 90,000
< 90,000

Jl=gstEEg 2 IR 381,000 367,500 13,500
= 301,000
< 80,000

EBANHOIEHN 29 (=212) 114,000 128,000 214,000
= 114,000

308 XXIEHHSOIA 114,000 128,000 214,000
= 114,000

01 AXHHILEES 114,000 128,000 214,000
OI=XNIHM $HAZAEM 29 114,000
= 114,000

NS SBAZOER 29(=21) 7,000 4,500 2,500
= 7,000

308 MtXIEHMSOIH 7,000 4,500 2,500
= 7,000

01 HXNHHBHELS 7,000 4,500 2,500
ONSA BAZOERN 29 7,000
= 7,000

JZEHstusdH 88 XA (=1) 90,000 60,000 30,000
= 45,000
< 45,000

307 gl & 90,000 60,000 30,000
= 45,000
< 45,000

02 It MAHEE 90,000 60,000 30,000
OJIFHSIW=E 3IB2Z 90,000
= 45,000
< 45,000




A0l X2t
M JSHEHSUM =X
Sl JISHSNS U RCMHIY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HIAGEE AIHE 240tA AHASLE X3 (=21) 70,000 66,000 4,000
2 35,000
< 35,000
307 gl2tol & 70,000 66,000 4,000
= 35,000
< 35,000
02 It HAHE L 70,000 66,000 4,000
OZ% J=HIUERNT &85 XN 70,000
= 35,000
< 35,000
HIAQES AR 2AJIA FSASLE JIEX XA 100,000 84,000 16,000
g2s X (=21)
= 100,000
308 MtXIEHSOIH 100,000 84,000 16,000
= 100,000
01 HXNHHNBHEES 100,000 84,000 16,000
OJI=ZXXAH ALE &5 X2 100,000
= 100,000
X aatd =4 44,632,000 35,305,700 9,326,300
= 31,200,000
< 13,432,000
HEEE =28 =4 44,458,000 34,900,700 9,557,300
= 31,200,000
< 13,258,000
FAENEL X AIE (=) 1,275,000 9,000,000 AT,725,000
= 900,000
S 375,000
403 UHXSHHSA=0l& 1,275,000 9,000,000 AT,725,000
= 900,000
< 375,000
01 HXSHMA=LE X 1,275,000 9,000,000 AT,725,000
Ox=2&5dA FFEHE XA 1,275,000
= 900,000
< 375,000
SA6Y S4 5,000 5,000 0
202 oddl 5,000 5,000 0
01 2LHO! bl 5,000 5,000 0
0Ll SN A2xF 5,000
2SI B2 AE(=1) 36,170,000 23,122,500 13,047,500
= 30,300,000
< 5,870,000
403 XHXI €A S Xt =201 ® 36, 170,000 23,122,500 13,047,500
=2 30,300,000
< 5,870,000




A0l X2t
M UX AaY 4
Sl YRETH 2AMY S4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 36,170,000 23,122,500 13,047,500
O=2HIIXNSI XA 36,170,000
= 30,300,000
< 5,870,000
OH St = A AH dl Kt A FE(IIOEEXA) 6,008,000 0 6,008,000
308 XXM SOIA 6,008,000 0 6,008,000
MBI 2SOoHetE & XA E A HI 6,008,000 0 6,008,000
OMst=A 4t RHMARES ALY =& 6,008,000
4 FEANE FEAMS(ZHEERE) 1,000,000 0 1,000,000
402 RI2HXt20l ™ 1,000,000 0 1,000,000
01 212t 2 A E = (REMTH ) 1,000,000 0 1,000,000
O FTEANE AL 1,000,000
Ol A XIICT Jlgtx=d 174,000 405,000 A 231,000
UK Z2x0 AFEFA 4,000 5,000 A 1,000
202 04l 4,000 5,000 A 1,000
12O 4,000 5,000 A 1,000
OUUX Z24H HRFXH 4,000
T A YA el ¥ SRAHA SHS HY 100,000 100,000 0
(2HEEXH)
308 XtXIEHH SOl A 100,000 0 100,000
1 3I2SOIHEHE & X 2 AL I 100,000 0 100,000
OFEHE dHEH Hefl € SFAMHA S
= g 100,000
HASIHAHHIIE SHAANUR =EEX HH L 2 70,000 0 70,000
I (2N XA)
308 XX EHSOIA 70,000 0 70,000
N 3JN2sSoueBaE2AS A 70,000 0 70,000
O ZSIMHIMHIIE EHAAUHURX =X &
L 2H0|= 70,000
HY2HZH (ol 4 Xl 157,923 163,841 25,918
el 2l 114,306 112,348 1,958
ATHMENHXEAZ2 29 114,306 112,348 1,958
101 @124l 114,306 112,348 1,958
03 RIHAZ 22 114,306 112,348 1,958
OATHMUUHXIZAIZ SSA olAH| 114,306
OoJles 76,818
123 24,864
-8~95 = 25,620
-102 3 26,334
o824 4,087




A0l X
HH: HH2IHH(MUHXID)

HE2
Helr g2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
7238 726
-89 = 1,495
-10& 3 1,866
OgtrestsE 3,259
123 1,058
gos = 1,087
-10&83 1,114
OANZZ2exg 12,220
OFEFItHI 6,402
S| 5,040
OneEtl 3,600
O&E=g 2,880
JlEZ3l 43,617 51,493 A7,876
2EM29 JI2Z 4l 43,617 51,493 AT ,876
201 L2l 30,951 34,273 N 3,322
01 At 22l 30,951 34,273 N 3,322
ORN2Y AR 22l 30,951
202 oddl 7,866 12,420 A4,554
01 = LH 4 1l 7,866 12,420 A 4,554
ORME2E =U0HI 7,866
203 YR =&l 4,800 4,800 0
04 RENSELR=LH 4,800 4,800 0
©30¢2! ol at 4,800
Heas (X 7,165,000 4,800,000 2,365,000
HEHHK = 7,165,000 4,800,000 2,365,000
NATHAANELEAN SEE3H 29 7,165,000 4,800,000 2,365,000
701 JIEtSI HSHES 7,165,000 4,800,000 2,365,000
01 JIEtel HE &= 7,165,000 4,800,000 2,365,000
OXNITHAANLN SEAH 2 7,165,000




N = 0 &8 AFH Y & A AN
20218 = 20 & DIEIEE I H A
2A: ol Xl
MM X MEsd
SRl ATHMUUX Y ¥ BEZ3(NDRIALENS LS AH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Off LA XI 2 6,834,500 2,962,000 3,872,500
X MEEY 1,799,500 2,138,204 AN 333,704
MTHMH UK JHE L BZ(XNEXAIEHMELSEAH) 18,000 21,000 A 3,000
X2 g, =22, 8A FA 18,000 21,000 A 3,000
201 et A | 18,000 21,000 A 3,000
01 AFR2t2l Yl 18,000 21,000 A 3,000
ofuXIZ2d N, 22 ,8AF =& 18,000
X K2l (NS RANENELSA) 1,631,500 2,112,204 N 480,704
NASES 08 IR JIAUFAIL(EIOIHR) B2 = 25,200 36,000 A 10,800
X
403 IR HHS K201 25,200 36,000 A 10,800
01 XX SHMA2E X 25,200 36,000 A 10,800
OMAEE 0¥ I3 JIAANAE B3 25,200
SAA AJAXY SZ24EXH XA 1,062,782 1,501,204 N438,422
403 ItXISH XS K201 1,062,782 1,501,204 N438,422
01 AIXISHMA2E X 1,062,782 1,501,204 N438,422
OZAIIA AAXNY S=&XH AH 1,062,782
SHE LPGAEMEYI AMELEXH X3 450,000 450,000 0
403 MtXISH XS K201 450,000 450,000 0
01 AIXISHM 22X 450,000 450,000 0
OsHE LPGASE HNEE I A& XIH K& 450,000
HMOIAIE e K& 33,600 48,000 AN 14,400
403 ItXISHHSA201H 33,600 48,000 A 14,400
01 XX SHMAA2EX 33,600 48,000 A 14,400
OMASE S=HIIAE & 33,600
TAIJIA S2HE MEEY =X 27,000 27,000 0
207 AT IH & H| 27,000 27,000 0
01 A2 sS<H| 27,000 27,000 0
OZAIA B3HIE MEEY 27,000
odl 81 8l 32,918 0 32,918
801 0l 5l bl 32,918 0 32,918
01 etal bl bl 32,918 0 32,918
(©)u:{is1Ns] 32,918
ASFANSK ES(NENIANENMEEZAH) 150,000 0 150,000
HMIIHA SHolTet RE XSAY 150,000 0 150,000
403 MtXISHXMS K201 150,000 0 150,000
01 X SHMA2E X 150,000 0 150,000




A0l X

I UL HYSH
oo MBENSKH BES(NGNSAIENESLSA) (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
| | | OFIIHA EFo Tt = X AAY 150,000
HIUX AaY =4 835,000 700,000 135,000
LATE 2A0H SH(NEXNIALEHMSLEIA) 626,000 0 626,000
HGtA SOC JIEtRE HPEY 160,000 0 160,000
207 AT IH & H| 160,000 0 160,000
EEEETT 160,000 0 160,000
OHG 44 SOC It x: g4 160,000
S AENAL L £AFTEANE 22 NS 466,000 0 466,000
308 XX SHAMSO0IA 466,000 0 466,000
N 3IN2SHUHSZEAEAE ALY 466,000 0 466,000
Ox=A2sN8A 224 XA 466,000
A XIICT ISt XS (KEXAIEHMEL S H) 209,000 0 209,000
X A& S (KA 21,000 0 21,000
201 LEt2 Y| 21,000 0 21,000
01 AP 2t2l bl 21,000 0 21,000
OWURX Al WNE, E8 F4& 21,000
SIGI0IE JIBF JIE & BN 22AAE 25 2 2 80,000 0 80,000
o]
308 XX SHAMSOIA 80,000 0 80,000
N 3IN2SHUHSZEAHAE ALY 80,000 0 80,000
OI}EE BHYZ 2A2AMAE 2F 80,000
2 HINIS MY F=A 108,000 0 108,000
308 AKX SHHSOIA 108,000 0 108,000
11 B 2S00t & = AL bl 108,000 0 108,000
O=R2Id MIIN2 S Mg =0 108,000
MEE S (oKDt 4,200,000 0 4,200,000
HEHAH KNS (KNI LNRAANLHMELS H) 4,200,000 0 4,200,000
HE= 4,200,000 0 4,200,000
704 Ol &= 4,200,000 0 4,200,000
01 0lE= 4,200,000 0 4,200,000
ooe2 4,200,000
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